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Titrations Practice Worksheet
Honors Chemistry

Hel + NaOBR = N.Cl + H.O

1. If it takes 54-mL of 0.1-M NaOH to neutralize 125-mL of an HCl solution, what is the concentration of the HCI?
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2. If it takes 25-mL of 0.05-M HCl to neufralize 345-mL of NaOH solution,‘what is the concentration of the NaOH solution?
o26-L Bor |05 ml _ .001s mel HEI] I mol NaOl_ | polzg msl NaOW-
‘ A - Lt mol Hel .3Us-L

/.OOSbf/V' NaOH

3. If it takes 50-mL of 0.5-M KOH solution to completely neutralize 125-mL of sulfuric acid solution (H,SO,), what is the
concentration of the H,SO, solution? — Jf, So’, + 2KOH — K,S50y + zH,
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4. Can | titrate a solution of unknown concentration with another solution of unknown concentration and still get a
meaningful answer? Explain your answer in a few sentences.
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5. Explain the difference between an endpoint and equivalence point in a titration.
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6. 60-ml of 1.2-M NaOH is fequired to titrate 40-ml of HF. What is the Molarity of the HF?
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HCl + Nadll = NaCl + U0

7. What volume of 0.40-M NaOH (in mL) would be required to titrate 100-ml of 0.25-M HCI?
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8. 40-ml of 0.1-M H3PO, are required to titrate 150-ml of NaOH to the equivalence point. What is the Molarity of the
NaOH?  HiPoy + 3Na0H =7 Na,Po, + 3How
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9. 55-mlof 1.2-M H C;H; ©, are used to titrate a sample of 0.67-M Ba(OH),. What is volume (in mL) of the Ba(OH), used?
Z RC2By0, + BaOW, —> Ba(CelMyor), + ZHoM
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10. 90-ml of 0.25-M Ca(OH), are required to titrate 100-ml of HCl. What is Molarity of the HCI?
THCl + CaloW), = Cacl, + 2HoW
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11. 50-ml of 0.45-M Sr(OH), are required to titrate a .75-M H,S0,sample. What is the volume (in mL) of the H,S0,?
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12. 30-ml of 0.3-M NaOH is required to titrate H3PO, to the equivalence point. How many moles of H;PO, are needed to

reach the equivalence point? H SPOL\ & 3 NaOR = NA?, qu + 2 HoW
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